



# Optel somme



$$\text{helmet} + \text{helmet} + \text{helmet} + \text{helmet} + \text{helmet} = \underline{\quad}$$

$$\text{helmet} + \text{helmet} = \underline{\quad}$$

$$\text{helmet} + \text{helmet} + \text{helmet} + \text{helmet} = \underline{\quad}$$

$$\text{helmet} + \text{helmet} + \text{helmet} = \underline{\quad}$$

$$\text{helmet} + \text{helmet} = \underline{\quad}$$

$$\text{helmet} + \text{helmet} + \text{helmet} + \text{helmet} = \underline{\quad}$$

$$\text{helmet} + \text{helmet} + \text{helmet} = \underline{\quad}$$